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Band One

Passage 1 { Reading Time: 2 minutes)

He’s a football star and fashion icon for billions of fans around the world. David
Beckham always leads the fads, with things like his hairstyle. But, recently, some people have
said his once fashionable hairstyle is unattractive and that he performs badly on the field. Here
comes the science question. Is stress causing Beckham to lose his hair?

Hair loss happens for lots of reasons. The most common is genetic—if your parents or
grandparents were bald, chances are that you will be too.

Then there are the physical reasons, such as using hair treatment too often or using them
incorrectly. Or, there’s pulling hair out by brushing too much.

Then there are diseases. A

Stress is thought to be one of the triggers of certain types of hair loss—but the evidence is
far from conclusive.

At 29, David Beckham’s reportedly thinning cover is most likely to be a result of male
pattern baldness. That’s something that happens to plenty of men as they get older. It’s that,
rather than stress.

({71 words )

Comprehension Exercise
Put a T in the blank if the statement is true or an F if it is false.
1. David Beckham is a football player.
Stress causes Beckham to lose his hair.
It is gene that is the most common reason for hair loss.

Stress is the reason that causes hair loss.

Gr = W N

Male pattern baldness doesn’t happen to women as they get older.

Passage 2 (Reading Time: 1.5 minutes)

Are you worried about bugs eating your crops before you can pick them? If you want to
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wage a war on the pests, choose insecticides carefully. There are two major types available.
One is made for use on flowers only. This type of insecticide is absorbed by the plant. Since
the chemicals can’t be gotten rid of before you eat your beans, peas or carrots, they can cause
illness. The second type is made for safe use on vegetables. These pesticides remain on the
surface of the leaves and vegetables. Even though it isn’t absorbed, it keeps the insects away.
Before eating your garden produce, you simply wash off the chemicals and enjoy the freshness

of your homegrown vegetables.

(119 words )

Comprehension Exercise
Select the most appropriate answer for each of the following questions.
1. What does the author suggest?

A) Eat vegetables before you are worried about them.

B) Select insecticides with care.

C) Wage a war on the pests.

D) Use insecticides on flowers only.
2. For whom is the article intended?

A) Sales manager. B) Supermarket food suppliers.

C) Tree trimmer. D) People who grow vegetables in their garden.
3. What should you do before you eat your garden produce according to the author?

A) Wash off the chemicals. B) Retain their leaves.

C) Cook them directly. D) Have them peeled.

4. What is the function of pesticide according to the passage?

A) It remains on the surface of the plant. B) It keeps the insects away.

C) It attracts insects. D) It helps bugs stay on the plants.
5. The word “they” in “... they can cause illness. ” ( Line 4) refers to
A) beans, peas, carrots B) chemicals
C) the plants D) flowers
Passage 3 (Reading Time: 1.5 minutes)

Place a burning candle in a plate of water and cover it with a glass jar. The candle will go
on burning for a short while and then die out. Do you know why?

'The water in the plate won't let air outside enter the jar. The candle goes on burning for a
short while because there is air inside the jar. But when this air is used up the candle flame dies out.

This shows that air is necessary for burning. We can also show that the more air there is,
the longer a candle will burn.

Take three candles of the same size and two jars. One is bigger than the other. Light the
three candles. Let the first one burn in the open; cover the second with the smaller jar and the
last one with the larger jar. Which candle flame dies out first?

(146 words )
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Comprehension Exercise

Put a T in the Mank if the statement is true or an F if it is false.

1. The candle can’t burn without air.

2. If there is no water in the plate, the air may go into the jar.

3. The candle covered with the jar goes on burning for a short while because there
is air outside the jar.

4. The second candle with the smaller jar dies out last.

5. The more air there is, the shorter a candle will burn.

Passage 4 ( Reading Time: 2.5 minutes)

Students often complain about the difficulty of remembering English vocabulary. My
suggestion 1s that you focus on reciting words that are frequently used in daily communication.
Some students work on trying to memorize the entire dictionary. That is a very difficult and
boring task. It could reduce your confidence in learning English and take the fun out of it.
Moreover, many words in the dictionary are not so useful.

Another pomt is that memorizing vocabulary should be related with daily reading.
Retaining those words you seldom use for a long time is difficult for many students. It is better
to read some articles and books in English to consolidate your vocabulary. One good choice is
to read English newspapers and magazines, such as Times, Newsweek, China Daily, and 21st
Century. In that way you can understand how to use the words and expressions in context and
in the way native speakers do.

My final suggestion is to choose your own way of memorizing vocabulary. Don’t confine
yourself to other people’s so-called “scientific” methods. No matter which method you use, it
helps if you keep in mind the important prefixes and suffixes. This could greatly reduce the
time spent on understanding vocabulary.

(201 words )

Comprehension Exercise
Seleet the most appropriate answer for each of the following questions.
1. According to the author, what kind of words is helpful?
A) Many words in dictionary. B) Words used in daily life.
G) Words requested by teachers. D) Difficult words.
2. It is inferred that
A) it is necessary to memorize the dictionary
B) memorizing entire dictionary can not help your English study
C) memorizing entire dictionary is useful
D) you should focus on complaining words

3. What does “retaining” probably mean?

N,

Sl

:)
TRTON



[ KB RIFRE FER— N SR

A) Memorizing. B) Writing. C) Reading. D) Marinating.
4. 21st Century is probably , in the light of the passage.

A) the name of a newspaper B) the way to name a century

C) an article D) the name of a dictionary

5. According to the author, in order to memorize vocabulary, you should
A) follow suit
B) choose your own way of memorizing
C) have nothing to do with it
D) choose other people’s so-called “scientific” methods

Passage 5 ( Reading Time . 1.5 minutes)

The Isle of Wight is a small and off the south coast of England. It is the most popular
holiday resort in Britain. In 1980, 800,000 people stayed there, and another 600,000 went
there on day trips.

Not many foreign tourists know about the island. Most of the visitors are British people
who go there for their summer holidays. The Isle of Wight is only 23 miles long and 13 miles
from north to south, but the towns and villages are all different, and they offer good holidays.
It is also the hottest place in Britain.

It is very simple to get to the island from London. Trains leave London every hour
during the summer. Two hours later, you arrive at Portsmouth, where you walk 50 metres to
the ferry. Half an hour later, you are standing on the island already. A return fare from
London to the Isle of Wight will cost about 10 dollars.

(155 words)

Comprehension Exercise
Put a T in the blank if the statement is true or an F if it is false.
1. In 1980, of the people who visited the Isle of Wight, 1,400,000 were tourists
who stayed there.
It costs a person 10 pounds for a trip to the island and back from it.
If you want to get to the island, you should just take train only.
It takes you 2 and a half hours to get the island.

SIS

The passage is about a holiday resort in Britain.

Passage 6 v (Reading Time: 1.5 minutes)
As a child Walt Disney loved drawing very much. When he was a young man, he
decided to be an artist. Later Walt began to make cartoon movies.
One day he caught a mouse and kept it as his pet. He called him Mickey. Disney made
many Mickey Mouse cartoons. People all over the world saw Mickey and loved him. He
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